103595 %, 51~ SPHA ° H SR T RV BELAE 1 e

101 102 103
1{ 200 | #rsrt [of 100 | sy |1 s00 | s
2| 100 | meewe 2] 200 | Fwsp |2 200 | maxm
30200 | #xm [3] 200 [ mixp [3] 200 [ wxm
sl 100 | Ex= (4] 100 |z |4] 300 [ zxp
s| 200 [ =i [s] 00| #xm |s| 200 | s
6| 500 | Z=xP | 6] 200 [ 2k |6 100 | F*xF
7] 200 | #xp |7 200 | wxe [7] 200 | £ %z
8| 300 | ez [s] 100 | mxm [8] 100 | mx=
o 300 [ muxty [of 200 | #rxue [of 100 | mixw
10] 100 | wkss [10f 300 [ mxz J10f 200 | s
1| 100 [ moxis |uf s0 | #xz [11] so0 | mixs
2| 200 | mexr f12] soo | prxts [12] 100 | Exw
3] 200 | #xie |13] s00 | zwm |13] 100 | ssem
14] 200 | =i [14] 200 | #xz [14] 300 | Hexsz
15| 200 [ mxd |is| z00 | mxiy [1s] so0 | aEx
16| 200 | #x3 [16] 100 | Fexis |16] 200 [ Bz
170 200 | Hi*o [17] 200 | ZIk g |17] 1000 [ kg
18] 200 | = xpt [18] soo | #oxm [18] 200 | = xam
9 100 | 2xgs [19] 200 | Fexmr |19] 300 | g
20| 100 | BexZ |20] 300 [ vk [20] 100 [ 2 sk
21| 300 | s [orf 200 [ 2k |of 200 [ Ak
2| 200 | sz |2 200 | ke [22] 200 [ mox
23] 200 | % 23] 200 | HrxpE
241 100 | [k 241 200 | A
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104 105 106
200 | miwss [1] 200 | kg [1] o0 | 2xm
2] 200 | mex {2 200 [ mxs |2] 100 [ s
30100 | kg [3] 200 [ zxm 3] 100 [ pExp
o 300 | Zesa (4] 200 | mewm [4] 100 | R
s| 100 [ xge 5] 300 [ mexty | 5| 200 | #rws
6 100 | AxF |6] 200 [ [k |6 200 | = k([
7 200 [ s {7 soo | mka (7] 200 [ mxw
8| 300 | sz [s8] 100 [ mexs 8] 200 [ =7
o 100 | gixg [of 200 | mxr o] 200 | #ixi
10] 200 [ max 10| so0 | siwsm |10] 200 | mekps
1] 100 | ki [uf 200 | mxa || 200 | pson
2| 200 | prxms |12 100 | =g {12] 300 | g
13 200 | ks [13] s00 | gk |3] so0 | ks
14] 300 | zexze [1a] 300 | 2wgn 4] 200 | mxz
15| 300 | #s [1s] 300 | mwwey 15| w00 | s
16] 100 [ m=xsy 16| 200 | mxs 16| 300 | e
17( 200 | =xw 17 100 | = xm 17| 50 | u ok
18 200 [ sk [18] 200 | #xm 18] 100 | sk
19 200 [ press {19] 100 [ Hexm |10] so0 [ mxe
0| 300 | #xis |20] 200 | sEsxp |20] 300 | sy
o1 200 | Bk |21] 200 | smsmp [21] s00 | ok
2| 300 | s [2f s00 | e |2 w0 | mem
3| 100 | ez [23] so0 | s os] w00 | A
ol 200 | prxr [2a] 100 | Fai [o] 300 | 2w
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202 203
110 | Az 1] 200 | kg |1 s00 | @k
2 200 | #xp (2] 200 | mxw 2] s00 | gk
31200 | drsrn 3] 200 [ 2 3| s00 [ #xsm
o] 100 | mkze 4] w0 [ o |4 s00 | pyxom
s| 200 | sxz [s5| 300 | avxz 5] 100 [ #expy
6| 500 | #rxze 6] 200 | sk |6 300 | wxm
7] so0 | wks [7[ 1000 | uwr |7 200 | s
sl 200 | wxpr [8| 100 | =ik |8 200 [ #exi
of 300 | = [o] 200 | #xsx |o| 100 | Fxm
10[ 200 | Fux# |10f 100 | A&z’ [10] 100 | FikZ
1] 200 | Fxm (1| 200 | #xm |uf w0 | #exe
2] 200 [ xn 12| 50 [ emxpr 12| 100 [ miwe
13 100 [ s {13] 200 [ prwm 23] 200 [ pyxz
4l 100 [ sww |4 so | sk 4] 200 | B
15| 200 [ zewm (15| 200 [ epw |1s| 300 | &
16| 200 [ six= [16] 5000 [ =k [16] 200 [ ks
17] 200 | vkxds [17] 200 [z |17f 100 | pexos
18] 200 [ emwar (i8] ao0 [ ppxz i8] 200 [ 2w
19| 200 [ #exz [19] 200 [ = wye [19] 200 [ sy
201 200 | Pk |20] 200 | Bk
of 200 | #mxz |2f so | mkc
2| 100 | zxz 22| 100 | Mk
3| 200 | #xx [23] 100 ] mxm
o] 100 | HEx=
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206
U200 | mesz [1] 100 | gk |1 s00 | g
2| 500 | =wwr [2f 200 | sk 2] 100 | mxw
3200 | w3 w00 | w3 so0 | vmwsa
4] 200 | @ |4 s00 | Aexm |4 100 [ pex
s{oo0 | Zxi [s| 200 | amxs [s] 20| #xa
6| so0 | w6 soo | mmeme [6] 100 | wxs
70300 | EoxF | 7] 50 | mxr | 7] 200 | #xw
s| 100 | smwm [sf o200 | Exr [s| 00| 5w
of 150 [ = [of 100 | stxm [of 200 [ #xp
10 so0 | s |10] 200 | mekd 10| s00 | Pk
1] 100 | weksm || 20 | A |11] 100 | gk
o 200 | wermm [12f 200 | Hekrs [12] 00 | g
Bl 100 | e (13 00 | prwze [13] 50 | mosc
14) 1000 | sk |1af 300 | zex 14] so0 | #kiE
15[ 100 | Phexsy |15 200 | HxZ& [15] 100 | F*&
16 200 | #exm o 16] 200 | makey |16 200 | s
17) 200 | g B 17] 100 | smxwm |17] 200 | Ak
18 200 | mokze [18] 200 | sikpt [18] 100 | #pww
19] 200 | @ |19] 200 | ks |19 200 | mpkm
o[ 100 [ mx |20| 200 [ #Fxmo || 100 [ gz

o1] 200 | smxp 2| 200 | meskpe

2| 200 |z

23| 200 | #rxia
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301 302 303

1l 1 | #Foexwm | 1] 00 | e 1] 000 | Fokpe
o s00 [ #xm [2f 200 [ s [2f 200 [ mmaom
3 100 | w3 300 [ mexra [3] 200 [
4200 | mEkzz [4f 200 [ amkie [4f 300 [ 2%
s 200 | Bk | 5] 200 [ gz | 5] 1000 | wpkEn
6| 500 | s=xir |6 200 [ Hexsm |6] 200 | kT
7 200 [ gt [ 7] 300 [ meker [7] 100 [ ppes
8| 500 | mExfr | 8] 300 | Zx#w [8] 1000 | ke
of 300 [ #kee [of 100 [ #x7 [of 300 [ #exp
of 100 %% 10| 100 [ #x& 0] 200 | Fxk
1 200 | 2 x& |11 100 [ meksr Ju1] 200 | sk
2 200 [ = [12f 100 [ gxpw [12f 100 [ mx
13 s00 [ moke 13 200 [ gk [13] 300 [ wexi
14 200 [ =okpe [1af 200 [ wokm [14f 200 [ #xw
15[ 100 | wixm [1s] 200 [ wrxm |is| 200 | pekcm
16| 200 | miks [16] 100 | mrxm 16| 100 | mxu
17 so0 | mpxm |17] s00 | #k3i [17] 200 | mukee
18] 100 | @k 18] 200 | wpkcp 18] 200 | # ks
9f 100 [ e [19f 300 [ 2k [19f 200 [ mix
20{ 200 | gk |20] 100 [ ks [20] 200 [ Zexig
o1 100 | = x [21] 200 [ ks o] s0 | sms
22| 1000 | % x| 22] 100 | ®xop |22] 100 | ki
23] 100 | #Ex

4] 300 [ %

25| 200 | Hx i

26| 300 [ sk
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304 305 306
1f 300 | 2%z [1] 200 | mxm | 1] 00| mwexm
2 100 | Zwee |2f s00 | mexg [2] 200 | Hhxkm
3] 200 | Bk | 3| 100 | mexd [3] 200 | #x
4l 100 | 2 | 4] so0 | #xd 4] 100 [ gExd
s| o100 | @rxE 5] 40 | mexm 5] 200 | =k
6] 200 | wxt [6] 200 | Mxm |ef 200 | prxie
7] 200 | sk | 7| so0 | Bex [7] 200 | gk
sl a0 [ s [s] 200 | e [s] 50 | wxm
o 200 | @ [of 200 | Bk |9 300 [
10] 200 [ k|10 200 | sk [10] 100 [ prkwy
1| 100 [ Zex= || so0 | #Exz |11 300 | smxw
12| 100 | Plekot [12] 500 | fhxaa [12] 200 [ F[ %
13| 100 [ wgxps |13 300 | #wi [13] 100 | sk
14 50 | wekpe |af 100 | omexE [14] 100 | sk
15| 100 | #ww [15] 100 | mexp [15] 200 | ik
16| 50 | mxme |i6] 11 | mexs 16| 200 | dexms
17 200 [ gxz |17 200 | o |17] so | mexm
18] 200 [ sexd 18] 200 [ zewap 18| 100 | gmsm
19( 200 | x> [19] 50 [ Zxg [19] 300 | [fxF

201 200 | = *HU [20] 50 1] > 3L
21| 200 HIT sk A
22| 200 | Pk
3| 500 | # ke
24| 200 | FHexa
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401 402 403
1] 100 | Bk [ 1| 200 | sk | 1] 200 | ]
2 300 [ #sw (2| 10 | w2 100 [ ke
3100 | mexw [3] 100 | mxa | 3] w00 | sk
af 100 | x4 |af 100 | mekp 4] 200 | Foksa
s|os00 | gyxim | 5| o120 | sk |5) o500 | emkis
6| 100 | #=xa [6f 100 [ wxse |6] 200 | emx
70300 [ e [7) 200 [ kv [7] 100 [ ks
8| 200 | Atsxp |8 200 | Iy [8] 100 | I
9| 100 | 2%z |of 100 | p#xi o] 20| prks
10] 300 | #exw 10| 200 | zxzm |0f w00 | g
1| 100 [ ks [1nf 200 | ogespp 1] 100 | gk
| 200 | zx3 [12] s00 | sexr |12 200 | e
13[ 200 | zexy |13] 100 | zexis [13] s00 | B kg
14 100 | #ExsE (14| 100 | mekam [14] 300 | Fkc
15[ 100 [ ks [15] 100 [ gk,
16| 100 | % xd= |16 200 [ #x
17 200 | = [17] 100 [ Hex
18 200 | emxzr [18] 200 [ Ewse
9 50 | s |19] s0 | mkzs
20 200 | ik [20] 200 [ # g
o1] 100 | Ikl |21] 200 | Ak
221 40 | Bk )22 100 | RIx3E
23] 200 | #exE |23] 10 | % s
24 200 | kg [24] 200 | By

25 200 | 2%
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501

1200 [ v [1] 100 | mxge [1f 100 | sk
o] 100 | mxa [2] 100 | mxin {2 300 | @ik
3] 200 | prx [3f 200 [ mwre | 3] 200 | ok
4200 | wxm | a| s00 | mekr |4 300 | pExow
s] 200 | 2xm |5 200 | wxis |5| 20| #xm
6| 200 | mesan |6] 200 [ wixmE |6] 50 | #mxcm
7] 100 | #xw 7] 200 | miwem |7 100 | #xs
8| 200 | k@ [8] 100 [ zexiy |8] 100 | ok
of 100 [ #xm [of 200 [ =z [of 200 | 2xi
10f 300 | mexrl |10] 200 [ #exz [10] s0 | ki
| 100 | Zsxw || 100 | s 1] 100 | g
2 100 | mx= |12] so0 | #xw [12] 100 | gk
13 100 | mxss |13] 200 [ mekze

14 5o | moxsz |14] 300 | %ok

15| 100 | 3 x5 15| 200 [ Bk

16 200 | #Fxx 16| 35 | =k

17] 100 | gy [17] 500 | 17 %%

18 100 | #exps [18] 100 | s=sm

9 100 [ = {19 100 | THx

20| 300 | mxz [20] 100 | sk

o1 200 | #ixm [21] 200 | ek

2| 500 | skp [22] 200 | Bk

23| 100 |

o4l 200 | = owp

25| 500 | Zekp

26] 200 | FHxiE
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502 503 504

Ll 1| Fioxde | 1] 200 | %l | 1] 100 | Bk
2 300 | =k |2 200 [ Fx=[2] S0 | Mk
3] 300 [ pixge [3] 200 [ g7xiE [3] 100 [ A
4] 200 | Zexpr |4 200 | gk [4] 200 | g
S| 200 | FkF |5 100 | BWxF | S| S00 [ 7w
6| 100 | FrxEi |6f 200 | 7w [6] 200 | gk
71 200 | Fkd= [ 7] 200 [ =k [ 7] 300 | ARk
8 200 | gk [8] 100 | FwE | 8| 200 [ zek
o 200 | = |9 500 [ @« [of 100 | ik
10] 200 | ks |10[ 200 [ FexEr o [10] 200 | BlkEE
1] 200 | s 11| 100 [ BP0 [11] 300 | Zexdw
12| 200 | Z sz |12| 300 [ Eesr |12] 1000 | s
13] 200 | S |13[ 300 [ kmE [13] 300 | dExE
14] 500 | Fwds [14f 200 | #ees |14f 200 |k
15| 200 | Hrxd |15 200 [ @EPkE [15] 200 | Rk
16| 300 | s |16 100 | BRkE [16] 100 | ZexE
170 100 | =% |17| 200 | TEAT [17] 100 | Bkt
18 100 [ sy |18| 100 | gmwdr 18] 100 [ ks
19] 100 | x5 |19f 200 [ gmk [19] 200 | Bk
20| 100 | #okA [20] S0 | fxjE

21 200 | Fikdy |21] 200 | Bk

22 200 [ =& [22] 100 | sk
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507

1] 200 | kg | 1] 500 | Mok | 1] 500 | FikfE
2 200 | x| 2f 200 [ f@kify [2] 100 | FokEE
3] 100 | Bkk | 3[ 100 [ Fexg | 3] 200 | £k
41100 | #=kx (4] 200 [ gExkAR |4 500 | Bk
S| 300 | Pk | 5] 200 [ BkEr | S| 100 [ Pk
6| 300 | #kx= 6] 200 #mx  |6| 200 | Fx¥
71300 | vhesgE | 7] 200 [ fkEE [7] 200 | g0
] 100 | ixzm [8] 300 [ = [8] 100 | #mxy
o[ 100 [ WoxiE [of 100 [ =k [of 100 [ %
10[ 100 [ Zrx= [10f 200 [ Bk [10f 1000 [
1 50 | A 11| 500 [ Bk [11] 100 | gk
12] 100 | #@Fsge |12 100 [ #kw [12] 100 | ks
13[ 100 | 3% [13) 200 | o |13 S0 | ok
14 100 | ToxgE |14] 200 [ Bk [14] 200 | Sk
15[ 500 | #Rkd |15] 200 | FExds |15| 100 [ £7xg)
16 50 [ Bpxi |16 500 | Ak [16] 300 | Bk
7 150 | smswm |17] 200 | mxm [17] 200 | #Rsey
18] 200 | = xm§ |18[ 100 | Wk 18] 200 | Pk
19] 200 | =& |19] 500 | Wk [19] 100 | A
20 300 [ k&

21| 100 | FFsr

22 500 | BT
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601 602 603

1] 300 | Ak [1[ 100 | #sdg [ 1| 100 [ f7%E
2 200 | RlkiZ |2 50 | ki | 2] 100 | FakaE
3 200 [ HaxE ) 3) 200 [ (x| 3] 100 | Tk
41100 | Boxfr [4] S0 [ #kx | 4f 300 | FexE
50200 [ PleksxE [5] 200 | Bb* |5| 300 [ = *xE
6300 | ~Txi= [6f 100 fx7f [6] 100 [ 29
7| 200 [ x| 7[ 100 [ Rl | 7] 100 | T ok{E
81200 | Fikfp |8 300 [ Ik [8[ 200 | = xF]
o1 500 | Ak |9 200 | ZFskf [9] 200 | ZExft
10[ 500 | ffP*a [10[ 200 | Ffx’E |10] 200 | 7%
1| 300 | #=*=¢ |11 100 | Bl [11] 100 | Mk
12| 100 | #isk# [12] 200 | Ak [12] 100 | ZExE
131 100 | %% [13] 200 | =% 13| 100 | =3
141 200 | AfokE [14] 200 [ f#IkcE O |14f 100 [ H %
15[ 200 | T |15 200 | PRk | 15[ 200 | Pk
16 100 | Flix 16 100 | #=x% [16] 100 | F=skid
17f 100 | Fx#  [17] 200 | == [17] 200 | 2k
18| 100 | #Fx% 18] 200 | HxiE
19 200 | Flx

201 100 | %%
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606
1| 300 K3 | 1| 100 7oK %F, 1| 200 2|k fi
21 100 Zex®r 2] 100 kgt 12 200 J= sk R
3] 200 | Eexga | 3[ 200 | Befr o [3] 100 [ kR
41 300 PRk [ 4] 200 fh I 141 100 [FfL >k ]’fl
51100 | ko [S5] 100 [ WEkET | S|S0 [ @bk
61 100 ek [ 6] 200 fsks 16 200 5L >k 71
7 100 | By [ 7] 100 [ FikfE |7 200 | gk
81 100 [ kg | 8] 100 [ Jkm | 8] 200 | [k
91 50 ek 191 200 Tk 7 91 100 I= 3k ot
101 200 Zek e [10] 200 %"J*%* 10] 500 Bk B
11] 200 ek [11] 100 Eifﬁ*ﬁ 11] 100 2%
121 100 x= [12] 200 =k |12] 100 Rk £
13] 100 rﬁJ*’?Eﬁ 131 200 k= |13] 100 §:§>!<ff§f
14} 100 - kB | 14] 200 FpiL >k
151 100 k3 [15] 100 ‘FFJ * R
16] 200 hgx T 161 200 ok &7
17 200 | x4 |17] 100 | ffikK
18] 100 gk |18] 100 &k
191 100 ks [19] 200 =k B
20 100 | i
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607 B e i
[ 500 [ mxa | o] 100 [ mesmr [ 1] 20| kxw
AR E R E T
31100 [ wrxsE | 3] 300 | mxam |3] 300 | moxpe
o100 | ppxe |4 00| sAxm |af 20| 2xw
s 100 | misie [s| w0 | mws |s| 200 | sk
6| 200 | mixry [6] 1000 pxsr |6 3000 ok
7] 300 | mww [7] 200 | smxm 7] 200 | ik
8 200 | gmxkp [8] 200 | mxi |8 100 | mxg
o 300 | mxrm |9 200 | mexw |of s00 [ s
10] 100 | mesnd f10] 200 | sxw f10] 200 | 2z
i 100 | gxrE (1] 00 | omwme [11] 100 | bRk
12 200 | WexAd [12] 200 | FskdE (12| 50 | Aok
13 so | werw [13] 200 | smxr [13] 200 | e
4] 100 | Bk [14] 200 | #mxE [14] 200 | mxm
15| 100 | s [is] 200 | owmswa is| 200 | mExyy
16 so | jjuxz [i6] 200 [ mEwe [i6] 300 [ s
17| so | #esiE [17] 300 | #xmp [17] 100 | vosm
18] 100 | miszm [18] 300 | e [18] 300 | #x
19| 500 [ pxss |19 200 | mewr [19] 1000 | g
0[ 100 | s |20f 200 | mrxss |20f 200 [ Fx
o1 so0 | mEs [21] 200 | e [21f soo | oyswe
2l 200 | Fxa |20f s00 [ s
3| 500 | e |23] 200 [ reom
| 24| 100 | prEpe
25| 200 | mxEA
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|- T

1| 500 ¥ >k G 1 1OOJ &k EL
2| 200 | Bk 2] 200 | fHxE
31 100 ke | 31200 | Aok &
41500 | EkTh |4 400 |k pEH
5| 300 | Ik

61 500 bk 2

71 100 ﬁJ*ﬁ

g1 200 12k -

91 200 Bk RS

101 200 ok A

11| 500 F Ik 27

12] 300 | fyxME

131 100 Hd %k imt

14] 200 | %%

15| 300 [ x5

16 200 | H ok

171 300 i?ﬁ L

18] 100 | ZE*j@

191 300 ?@*%ﬂ

201 300 Pk 2V

211 200 el k 4]

%5/4.2 BHF#ES
FEED © $186,468 7
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